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TET - PAPER - I

i. GYBmE Gur(Hid SNYI5SM (PmMESEHLD
Child Development and Pedagogy
1. sarCeriLESEID YyMeeTl usTeame LTLLILGHSSLaT
A smieGrmegiev B Lmiefsr C emLsui D umsuGeor
Non Directive councelling was advocated by
A Karl Rogers B Darwin C Taylor D Pavlov
2. ‘geTe&6T Qe 6Term Brens Glauaflufll e
A sometr GLal B eflsbsdliid Gegtdern
C erleuii(h) S&asimsiv D ALoeor. Wiymi
The book titled ‘Dream Analysis’ was published by
A John Dewey B William James C Edward Tichenes D Sigmund Freud

3. westIGUITTTL_L g6 60T 611608861
A4 B2 C3 Ds8

Types of Mental Conflicts are
A4 B2 C3 D8
4. 5nN58606T (PS60 Liglhlemen

A uHIIE Caige B swm Glaiige C anmdlgssn D SlLfi(hige
First step in Teaching

A Evaluation B Preparation C pursuing D Planning
5. seumment Geomg emw GMILLI(HIS

a) pistoTenoTnile e Gamgement — gy oLt 19Gear

b) QomflE Camsementtleudsieurt ¢) ;. — C.A. x 100
M.A.
A a & b sflumer eflem B a & ¢ siflwmer allsmL

C ¢ & a giflwmesr eflem D b w Qb &ifl

Find the odd pair out

a) 1Q test — Albert benae b) Verbal test-vexler ¢) 1.Q - C.A. x 100

M.A.
A a & b are correct B a & ¢ are correct

C ¢ & a are correct D b alone is correct
6. &(meUMIS0lTCLTS o emflLAlmhg Gumiu@Gin &CrTeLrGsmid
AY BX CXY DXX
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During fertilization the chromosome received from the male partner is
AY BX CXY DXX
7. plsvoTemOTANleY| SMTHS LIST(P&&aMTemnfls Cam Ul igemer gjarall STemsnL &
SnmILd euLfl WTg) ?
A CVAD B CAVD C CDAV D CDVA
Name the test deviced by Thorndike in multiple theory of Intelligence
A CVAD B CAVD C CDAV D CDVA
8. SIT6UOTL 60— GI6VMRIS6V 6THLIL& STIT6UTLD
A epemer B (p&lii&d) C yeveir 2 miiygser D oysmiuieimis e

Stimulus — response is due to
A Brain B Maturity C Sense organs D Experience

9.A —>
B
GCLoGev smremid @\ Carhisefled ‘A’ steorm GCamr® ‘B’ smw el Feorid @emmhs)

Sremild Sl lulleneor 6T6OTEVITLD

A umemiserLmitl Hiflys sridl B u@smse CriGasr®h Siflus sm gl
C Gaeverrian ifiys sm gl D wpsvsui—sowi Siflys sm &

A < >

B

In the above figure the line ‘A’ is perceived to be shorter than the

line ‘B’. This is due to

A Poyendoffs illusion B Horizontal — Vertical line illusion
C Zollener’s illusion D Muller-Lyer illusion
10. @LoTLI LIHaULD 6(T Sl&aseumenT jemLodumm Li(HeULD 6T60T8 S pliieurt
A Bigasir B Gasmsu C eruL_mearedl ammey D eflsusdliuid Lo&(Ba60
Adolescence is a period of storm and stress — said by
A Brickson B Cole C Stanley Hall D William Mcdougall

M. 2 L6 Qawsourhiser LHmid 2 o1& ClFweuTO&sT @lTetipsnein STTed GlFWLL 2 ol (P&l

ErerLhlserd il

A w1l s B ensrmu@® srill C umprengrmi®h srind D gy fered smid

The main ductless gland that regulates the physiological and
psychological functioning of a person is

A The pituitary gland B Thyroid gland C Para thyroid gland D Adrenal gland
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12. plpsoLww epgrasisaflLilmEg QSTLinbg aufl auflurs o L e, 2 riiLebTLS6T 6T ShsE58 EmE(E)

a6tTS61fl6aT CLPEVLOTE; 6L1(TFSH6M6V 6T60T 9|6mLPS&l6oTCMITLD

A urflssormio euer&e B 91065 anhsd flemsv omhmid
C 2 ufiflwev Loy Hlemev D @eumnleb sTge LHlsbsmev
The transfer of physiological and genetic characters from parents to off springs through
generations is called
A Evolution B Transfer to next generation C Biological heridity
D None of the above
13. @ ([ @ITLemLILigsT Gy ¢gLpsdley euaTihEGLTS), @larsaflenL G mieremTe] Feay (1)
Ar=0.087 Br=0.0870 Cr=087 Dr=87
The 1Q correlation (r) of monozygotic twins, brought up in the same environment is
Ar=0.087 Br=0.0870 Cr=0.87 Dr=87
14. SwrGsguflear glsev Slmetr eusmi&Sluflsr epsormmid flsmev

A verg Gsweur_ (D& (phamsil flsmsy
B settran La LMiliLeng eveusagd fbdHsg GaweubLd Hlemev
C Qs (H 2_6w0T(HLDd Li(HeULD
D yenwrs Curdgg Sndég) ereimenmhissflsr gjplinemLulls GewsLbLD weTheme
According to piaget is the 3rd stage in the cognitive growth of an individual
A Pre-operational stage B Concrete operational stage
C Sensory Motor stage D Formal operational stage
15. 2 L &M_&) eLpeuld SHMemev (LpS6iT (P&e0ley ellarselaurt
A B.F. svdlsireorit B Guorfl sseyit Gegmrearery C uimsuGeor D Gasmeor
Learning through insight was first shown by
A B.F. Skinner B Mary Kavur Jones C Pavlov D Kohler
16. 561 O\&FLeKLLD LOTETOTEUEMEIT SH\([H5S O
A sevm_sverr B poeufl sm’ s C uflssst opfgss D s Qamerammos s G o9 Gge
The best way to change the wrong doing of a child is by
A Punishment B Teaching good moral values C by giving awards
D ignoring his behaviour
17. pisoremorndley (pSHIT&e) GUTg TS (Ppsmd GL(HLD oIS
A 10-11 B 19-20 C 40-41 D 15-16
Intelligence attains its maximum level at the age of
A 10-11 B 19-20 C 40-41 D 15-16
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18. gy &&Gmer unmlu hsTerGaTLr Camgmenmuilsr (Gomfl mmid Gomflullsars GCargemen) 2 (BLiLlg S6iT
6T5 & 6M60T
A10 B4 C12 D19
State the total number of creativity tests (Verbal + Non verbal) in Minnesota test of thinking
A10 B14 C12 D19
19. 918(ps60T, LIM(Lp&6tT Y SGIMTE) @leoL|gemer ellems ot
A GsL Lsv B sygirss C Gssinls D wyri
Personality traits such as introvertism and extrovertism personality was explained by
A Cattell B Eysenck C Kemp D Yung
20. gy @penLnenil gjemail i LiesTU(GIn WlsL GILmmSSLomsT (Lpemm
A swsflemg B &w e C yGmfl Gsmmusmea D weriiLmsreni gjera Gamsy
The most apt method of evaluating a person’s personality is through
A Autobiography B Self rating C Questionnaire D Attitude scale
21. ilemss lemev LoeoTLd 6T6aTM Hl6m6V 6TMHS EUILISIEI (5 THL(HSHMS)
A1-3 B3-6 C6-9 D 9-12
Super ego stage occurs at the age of
A1-3 B3-6 C 6-9 D 9-12
22. emen Lsomssfleor gy Al &1 9jemey Gamadlsnerl LleTUGOISS) Sps@MILtu’ (HisTer eriiussonSlsneor
ALt gjerei®H Glsilwsomd
A o Aiflufletr BLSems nmid gy seliuery B oy fflufsr ufle wmmib by
C gy &iflwfletr @uumi@Ld LstoT HmId BLSme D Glemes 9jmmersgin
Which of the following can be evaluated using Bruce Tuckman’s Teacher Feedback form
A Behaviour & Creativity B Warmth & acceptance
C Dymanism & Organised demeanor D All the above
23. ameveiv 6TeTLIITE SDMEV GlsmsTensUlsneT GHMSESLD (GSSHITLD WiTg)
A SER =DRXSHXxK—-1 B ReS =DXSRHx K - |
C SER=XDSRHR xK -1 D SR =DXS*RxK -1
Hull’s theory of learning formulae is
A SER =DRXSHxK—-1 B ReS = DXSRux K - |
C SER=XDSRHR xK -1 D SR =DXS*RxK -1
24. eyemeruiley LD Hemerralln L8 (&S sTremTons @umkiE GeudliGummsir
Ay.esorer. B gym.ereirer. C ursid D smiGumrenamiy Gl
The most potential chemical agent responsible for memory is
A D.N.A. B R.N.A. C Proteins D Carbohydrates
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25. &Tev eUILG)| 8, 06T AUILIG| 7 LOMMILD SIT6V 6L 7, Lo6wT eIl 8 2 eiTer @lsuiell(meuflsir miiTssoriley Frey
wirg ?
A 87.5 &114.5 B85.7&1415 C8.75&11.45 D875& 114
The Chronological age of one child is 8, Mental age is 7 and another child is with C.A. 7 & M.A. 8,
find out their 1.Q.. Level.
A 87.5&114.5 B85.7& 1415 C8.75&11.45D 875 & 114
26. anledl steTLieuT 1909 910 oy eioT(h Himiedlil GUHmS ST 26T B HSGIe OIS 6ThIE J|FLHSI6TaTE)
A 91 e08)Gradlum B@igdlur  C AsenGasr D saidh o Gmilur
In which country was the Juvenile Psychopathic Institute established in the year 1909
A Australia B India C Chicago D Saudi Arabia
27. seuerT aiFmes 9|58 2 Halb &[me
A smaLrauGsml B g paimré Camgemer &meall
C Lndlev LmevGasmi D hememreay, 2 memsm small
The device used to measure the span of attention is
A Kaliedascope B Mirror drawing apparatus
C Tachistascope D Memory drum apparatus
28. gl &r&Ger eTETLOITS SnMMILiLlly SHMEV 6T6ATLIS) Ligrflemeugemer GlgmesorL g
A5 B7 C€C8 D6
Robert Gagne’s theory of Hierarchial learning includes types of learning
A5 B7 C8 D6
29. flemeorailstr (LS @ITetoT(h EEMSS6T
ASTM&LTMB ATM & GTM C LTM & ATM D ATM & STM
The two types of memory are
ASTM &LTMBATM & GTMC LTM & ATM D ATM & STM
30. VIBGYOR sretrug TOTUSNS (1 FMhS ThHSSISSTL(H

A smms snme B flenere tegdlmsst C staflu smmed D Glomssfl&en
VIBGYOR is a good example of
A abbrevation B Mnemonics C easy learning D monics

iil. Lanquage | — jace - Tamil

&1 2 6am LSSlemll LigSZi 1 (PS6d 3 eusmiy 2_6iTem el &S (EHE G allenLweflss.
S EHriped &ms STs5EHNE (PerarCr alllumiser aemTWiLLL 6. ST amIhe alumismsT (P&l
seuorOlsoT (LS8 6T60TCM eupradlenti. Sl @esEHLSSL TWSS TaTUSNE el eaTmID ClLmmeT

2 areng). CHT&CHT(H), CarasGam(), auemsTCamr(h Glemsr(h eusmmuinl L sellunigsT Gam GLmafiumbiger
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eI, efluiser  ereimeormisafleor  eTEFlemi U eustoTenmTuGaflear  Glemenor  Glssmevor(h)
TWSIGAMTTSE0l6T SetoTsmneT ellsmeTEhi eTeTULL L 6ori. gyetor el ‘HSSTIhISSET  sTeTaD, GlLister
el ‘HSETCaeom’ sTevT LD JMUPSSLILIBIGUIT.
31. susmerGam(hs6T Glsmetr(h eusmTLILI(heS)

A stysm aflwn B Gam_GLmafln  C ysmerum spailwin D umemeu spailin
32. ‘senramieit ellemeurEhii’ 6TETMEMLSSLILIHILIGUIT

A yeveurr B umL s C mrligwssmi D geflwir
33. “Glustor spefliisss’ @lseury 9smp&sLULpeurt

A 54lrCaemr B flsdHmmusser  C dsdriumsmen D fsHrsamr el
34. ‘Bguiled £&s0 UMy 6uhS Hleom eTeaTm| LT WITEDITLI LITlg 60TITT

A umpdgest LmBenw B Ly umrdgremen C auramfisres umrémiu D Uy aurmflsremen
35. Neraumeustreumpilev sflwmser auflensemiug Coirey CFlems.

A Gueng, LIS, LK, Guginsmu B Cusng, LHams, GLgLoemL, Lomisns

C Gueng, GugLbenL, Lokiemss, L Kemg D Cusms, Lkiems, ClLgemL, oL Hng
36. g6r SeveuemmuSlea g, ‘SeaTeneoT 63(h SLiligMh LOTETITELET 6T6TMI 6T(LSE GlEmeTsaTaut

A sm(h6lsusy B efompesileur C gl Gumi D wGresflav umygwmt
37. seUs ST 2 ML SeT

A10B14C8D18
38. ‘BleL&s6T ST’ 6T6Tn) EMLSSLILIGHILD HT60

A devtiudsmrid B wenflGugsme C Fusdnsmoemntl D eusmemwumug
39. ‘Hns LSS’ SereTss6s GlsmetorL KT

A ys0gmearermuilyio B pgi6mfls srepd C gmLssal usg D ughmiiussg
40. sremisIhe CLWGTFsLD

A ellemerpimi B rmiGleL LstélifemmiGuGliréein

C allemenrgGgmens D mm@s L srdlinsmmeailensrGliugsLn
4. ‘@enspgl’ sTeTm HTsmeo @iumniliert

A umrlwmt B umrdlgrasr C mrnsse sellgpi D arsm
42. “gTeurld eUMTaISIL& &nefl(hleumedt

& meug) GLoev sTeor) GLIFI(Dleussr” — eTeaTenILd euiflsemerTl Limig eI

A safluenfl B prusse sallgpi C ur_ds sellepm D 2 aemwns sallept
43. 6v, Lp, 6T — @\DeLPsIT)] 6T(LYSGISEHD 6T LTS sedlLg)

A winiGsmedl emy B shdll Semp

C erpdgit emip D el Semip
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44. ‘g sg) eefl’ srerain Fmisamaullsr o &flwr

A mrepeled mmesr B sum.Geou.a. sowit

C sn.@ser. wsswset D &.&. Gesaium
45. ‘mreTCasmmId 2 L muilng) QFlen)’ sT6TLS) 6ToUaImSS CGTLIT

A s Lemerg GQgmLiT B Qsids Gami

C 2 suori&dls Qe D o Lsrum’ (h& Gsmir
46. (ps6v LTssefl [T

A urseusmgll uyemfl B @iremfliussns Liremf]

C sellussgiiurenfl D s&swrsLiuysof]
47. ‘Senrsseis SHevsld’ e B Wirenrs GMNUINGHEGmmD

A 2_(hene mrymiuesser &afl B @.Lom. umevaLisiyosmfiuin

C gu@masrdl D ururrsd e
48. (P& QUKL Ijlg

A @memg B gjemauy C ligig D Gpipeuly
49. ugCleTenor SLPSS6T0TS S HITEVS6 0 2 66T LmKTe

A @streorm mrLg) B sereufl mmoug C @eflusmen mrousg D smi prhug,
50. ‘cgyemmingnnfl’ sTeoTenID HedleoT gy Sl

A Quwrr Qg flwelsvsme B pres@ssermmt C Gamurtumfls oo D H15868 565 0m
51. QuiflwrmesrgSnE Casdlpmt @I L Gl

A s 0grerLi Qgmams B Cesdlpmt yrmssorn C &ms0smerLi Smarbsrd

D £m&0amesorLii Lyymemrid
52. ‘umisfl U588

A @Qgmfleomg @uwrr B @ sur@ Quwrr C demsomum@ Quii D smevsum@ Guwim
53. L Q508 mems Ersusefled 9|sL, LML SombhS HTe

A QrhresTams B udnmiings C uflum_s D @nkograms
54. ‘ 9|rgetT’ 6TEITLIENS ‘ |MIEF6IT 6T60TN)| S MI6LS)

A @QevsssmpsoLing) B weme.  C @leusaemr) Gumsdl D @l s&rLs860
55. ‘GlumetTenaLd’ eT60Tm SFlmisemguileer oy Fifluwirt

A CQuwsmhgsr B ygiemwuliigssr C ruepssr D @.ur. preyGsamumsvesr
56. ‘gLl HTLss0 CUTSflur’ sTarmenLpssLnblLsurt

A srusrsmev saumblgst B Curnlepi ojsvoremrm

C gyi.sterv. wGsormasi D LibLoeh SdLKBS (LpSedhwmt
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57. usGYHEI Laeusn o 5ifles aeTeTsy
A s dlyetr seursd B senLwiiu eustemey C Fgsardl D umfl
58. ‘emIIL| L6V &6 6TEITLIG)
A urys sellens B emanss. C ygissaileng D el sen
59. ‘sraled Shg’ Umgler
A gystoremrmosmeowimt B warsel umrdwmt C oyregsastorpaermt D gy memrSiflmrsm
60. 6.16tT6TOTLD SH6V6UTL6Y SIS G I6TT(DSETTEL BlgAULD EUEDTEUS)

A el ipemsLl Levens B Lememur geflwud C e’ gemss Geerid D mhise alstmrssin
lil. oy midlen - English
61. Choose the correct phrase to fill in the blank in the sentence.
She living in Chennai since 1989.

A have been B had been C have being D has been
Fill in the blank with correct Homophone.
62. | thought it might
A reign B rein C ruin D rain

63. Change the given verb into noun form : Imagine

A imagination B imagined C imaginative D imaginary
In each of the following sentences, an idiomatic expression or a proverb is highlighted
select the alternative which best describes its use in the sentence.
64. The police will leave no stone unturned to discover the murderer

A turn every stone B investigate thoroughly C make no excuse D be indifferent
65. The concert was brought to a close with a display of fire works

A concluded B interrupted C announced D cancelled
In the following passage, there are blanks each of which has been nhumbered. Against each
number, four words are suggested find out the appropriate word in each case

A rich land owner was on his deathbed, gasping for breath. He told his three sons to dig
under his bed when he was gone, and he died. Some days later, the sons dug at the spot and
unearthed three pots, (66) one above the other. The first pot contained mud, the middle contained
dried cow dung and the (67) pot contained straw. Below this pot there was a silver coin. The
brothers were puzzled. “Obviously, father meant to (68) some message to us through the pots and
their contents, said the eldest brother. They (69) for a while but (70) of them could come up with
an explanation.

Finally they decided to (71) their doctor, who was also a family friend. The doctor laughed
when he, heard about their problem. ‘Your father loved puzzles,” he said, ‘The interpretation is
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simple. The topmost pot contains mud you say, that (72) he wants his eldest son to have his fields.
The second pot contains cow dung. It means he wants his second son to have his (73) of cattle.
The last pot contains straw. Straw is golden coloured that means he wants his youngest so to
have all his gold.” The brothers were happy with the way their father had divided his wealth and
appreciated the doctor’s (74).

‘The silver coin at the bottom of the pots? What does it mean?’ asked the youngest brother.
‘Your father knew you would come to consult me,” smiled the doctor, ‘The coin is my (75).
66. A only B stand C stood D placed
67. A least B lowest C less D deep
68. A tell B request C order D teach
69. A think B thought C relaxed D taught
70. A one B either C some D none
71. A go B told C consult D take
72. A meaning B telling C suggesting D means
73. A herd B flock C gathering D school
74. A effort B wisdom C brilliant D wit
75. A friendship B pot C fee D keep
Rearrange the following sentences in proper sequence to form a meaningful paragraph,
and answer the given questions.
A) The farmer called his neighbours and asked them to help him put mud into the well but the
mule thought that he was calling the neighbours to help him get out of the well.
B) A farmer wanted to get rid of his old mule and buy a new one but the mule always came back
from wherever the farmer left him.
C) He walked away from his cruel master and never returned.
D) One day the mule fell into the well and the farmer thought, ‘Why not bury it there so that | don’t
have to worry about getting rid of it?’
E) The mule started shaking off all the mud that fell on him and kept climbing on the leap of mud
as it fell into the well, soon he was on top of the mud heap and he easily got out of the well.
F) When they started putting mud in the well the mule realized his master’s plan and started
thinking of ways to say himself.
Choose the correct order of the sentences from the list given below:
76)
A ABDCEF B BDAFEC C DFEABC D BDEFC
In each sentence below one word has been underlined. Of the four words suggested under
each sentence, one can replace the underlined word without changing the meaning of the

sentence.
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Find out the appropriate word in each case.
77. It was a useless attempt on her part to participate in the competition.
A fruitful B future C last D futile
78. He is reluctant to ask for permission o leave early.
A unhappy B ungrateful C unwilling D unsatisfied
Choose the word which is most opposite in meaning of the word given.
79. Polite
A angry B sheepish C offended D rude
80. Reveal
A show B exhibit C conceal D prohibit
81. How many meaningful English words can be formed with the letters OTE using each letter
once?
A none Btwo Cone D three
The following sets of ideas / objects have some common feature / function. Spot the odd
one out
eg: bag, basket, hat, bucket
Ans: hat — the others are used for carrying things.
82)
A bite B chew C suck D nibble
83) Choose the appropriate word and fill in the blank
| do not know what my father choose that particular school

A happened B controlled C asked D made
Read each sentence to find out whether there is any grammatical error in it. The error, if
any, will be in one part of the sentence.
The number of that part is the answer. It there is
84) while he was walking along the road (A) / a speeding car (B) /
knocked down to him (C) / no error (D)
85) Everybody know that his failure can (A) / be attributed to (B) / his lack of practice (C) / No
error (D)
86) Do you wanted to discuss this (A) / project today or can (B) / we do it tomorrow (C) / no error
(D)
87) What animal is found, by taking the fifth letter of the second word, the ninth letter of the first
word, the sixth letter of the fourth word and the fourth letter of the third word?

PARTICIPATION

SHOULDER

SYMBOLICALLY
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SALESMAN
A TOAD B LAMB C BULL D MARE

88) A horse is tied to a 30 feet rope. A haystack lies 40 feet away, but the horse is able to eat it.

How is this possible?
A The horse is very smart. B The other end of the rope is not tied to anything.
C The distance is not measured correctly.

D The wind blew and brought the haystack close to the horse.

89) In the Active Learning Method (ALM) Mind map is drawn to check the

the students.
A drawing Skill B writing Skill C understanding of the content D to while away the time
90) Identify the compound sentence :
A He is too tired to walk
B After he had done the sums he went to bed.
C As she worked hard she completed the work.
D The farmer was old and he could not plough the field himself
iv. (a) Mathematics and Science
91. smasd Lms HifemruiliGLimT
A um_gdl L guelsr B augly gudifliuisst C ssail aushayimbiser
D semevsmowmdiflriger
Curriculum is designed by
A Syllabus Committee B Class Teachers C Educational Experts D Headmasters
92 .1968T62(IH6UETTEUMMIET STTLISIT 6T6H0T 6T ?
A(7,21) B (3, 15) C (3,5) D (6, 2)
Which one of the following is relatively prime?
A(7,21) B (3, 15) C (3,5) D (6, 2)
93.08\1L smetors (2 V3 +V 5)V (5-23)
A-9 B12 C-1 D-7
Evaluate (2V3 +V5) (¥ 5-2+3)
A-9 B12 C-1 D-7

94.Qsr(h&sLuCL N steirssefled (N>1), e eTevor 1 -1 Lomm eTevoTSH6IT
n
J|METSHGILD 66TTMISH6T 6T65F160, N eTevoT 6 l6TT FTTEFAf.

Al1-1 Bn-1 C 1 Dn-1
P n n°
Given n numbers (n>1), of which one is 1-1 and all others are 1’s.
n
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The mean of the n numbers is

Al-1 Bn-1 C1 D
? n

n-1
n n°

95.9,isSIILLd 1 (LpS60 9 QDT 6TIPSLILILL 6T6t0T DI 6ML &6 @)HHS6T. 6T 3 6T6tor L 6mLSemer sT(HSS)
I|emL&GLD eTetor 280-5GL 300-5@ELD @enL il @(m&s Gaustr(RGloesflsy ECLp 2 semaumfled 6Tems 6T(HSHS
Geemor (HILD.

A6 BCD
;

Arthi has number cards with numbers 1 to 9, if she wants to choose three cards to form a number

between 280 and 300, then she has to choose option.

A

B

C

96.2 (2x-1) = 8(3-x), 6Tevflev, X 607 Lo
A-1 B2 C2 D3

If 2 2x-1) = 83, then the value of x is
A-1 B2 C2 D3

97. 329.728 = X etevflsd 329728 etr Loghll

0.00297 297
A 10 x B 100x CX D X
10 100
Find the value of 329728 = if 329.728 = x
297 0.00297
A10x B 100x C X DX
10 100

98.(x-1) steoTig X3 + S5x2— X — 5 601 6p(1h, SHmysvei] 6T60{l60, LOMHM SHTsveilgH6T

A (x-1) (x+5) B (x-1) (x-5) C (x+1) (x+5) D (x+1) (x-5)
One of the factors of the expression x3 + 5x2—x — 5 is (x-1). The other
factors are

A (x-1) (x+5) B (x-1) (x-5) C (x+1) (x+5) D (x+1) (x-5)

www.kalvisolai.com 13




99.qr1 mifleusa; sTsvoremflear @S smigeflar sn(Dge0 6. 9hs eTevorsnfledl(mHg) 18—
89 SLSSHME0 @leVSSmIST @)LLD LomyILd 6Tesfl6b oS 6T6wor.
A51B24C33D42

Sum of the digits of a two digit number is 6. If 18 is subtracted
from the number its digits are interchanged. The number is
A51B24C33D42

100. . “ peavGleudadhur” aume smmedlsd FHLIEILD @ILLIETEDLIS6T o L 68T (P& QSTLITLemLILIS).
A GslL60 Lommid T&ISH B LigSH560 mmid 6TgIsen
C Guags mmid Ligsse D Guaige mmid CaL L6

Dyslexia is associated mainly with difficulties in

A Hearing and Writing B Reading and Writing

C Speaking and Reading D Speaking and Hearing
101) eGCoamud epsirmy  (p&Camemmseaflsor eypsry Corammigsflar s(hsn SpsEemL  amsLUils
J|emLealms 2 MHNICHETESIL LomesoT a6

30°+45°+ 105°= 180°

30%+ 60°+90°= 180°

45% 55°+80° = 180°
Ieumnlesr s (HSHE00lHG “6ThS 6 (P&HCamsTS et epsitm CamemTrhisaflsr & (hae
180% 66T (1Pl 64&(S QUMHAMTEHT. @S SHMED (LPEDMLITETT S

A ey weom B Gsemig) shme (pemm

C afldleu emm D ellSlallers@ (psmm
A Student observes the angles of any three triangles as follows.

30%+45°+105°= 180°
30% 60°+90°= 180°
45% 55°+80°= 180°
He concludes that “Sum of three angles of any triangle is 1800 . This method of learning is

A Analytical B Learning by doing C Inductive D Deductive
102) 500 Ql&.L8. + 50 L + 5 &L =
A 500 o B 555 1§ C 5055 1fi D 55 1
500 cm + 50 m + 5 km-
A500mB555mC5055mD55m
103) 11 Guenr&saflear 9|L&s aflsmen 10 CusTSsaflsr aflhm ellsnevs @ &Lold
sT6ofl60 [@leVTLI 9)606VG B L FS56I5SH6MSHE SIT6HTs.
A11% B1% C21% D 10%

The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss or gain percent.
A11% B 1% C 21% D 10%
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104) CAl et Lwestum(®)
A sni5s155T1s B auflsm Qaassns
C seflsur snissnssrs D Gawesdmsr Globnum lenesms
CAl is used for
A Instructional purpose B Guidance purpose
C Individualized Instructions D Performance appraisal
105) ¢5Lpsmevd; emSILITEHLD Simement LomemTauTS6flemiiL eIETTSEGSLD (LPsmm
A aiifleysmr eom B eureormm (emm C oypiiieis (pemm
D afifleysmiy pmid Gaiigism G (psom
The method that helps in developing manipulative skills among the students is
A Lecture method B historical method C Laboratory method
D Lecture cum demonstration method
106) sp(m, LomsvoreedT -5 -3 = 8 eT6iT) SevTSSH (HSMTeDT. Llemp sTHLIHUSNSTEIT SITIT6ToTLD.
A ypusseaflsr Gumssamel LHPIL &[S IeIEISE LUfiLTssTes
B ojsusmismLw seueTiblsiTenioiLimed
C yuwssaflsr g Lsmeot UNMiu & H58 IjemSE Ufursgre
D @Cs wréfl semrs@asefls gamisE Luind Cameailiu(beugms
A student solves -5 -3 = 8. The reason for the error is
A He has understood the concept of multiplication of integers.
B He is careless. C He is not clear about the concept of addition of Integers.
D He needs to practice solving problems of similar type.
107) 120 ussmsmaTs GCamamL @ LUSS6550, altarm usssSSnIin 45 auflser 2 erarer. 6m
USS5HNEG 24 euflser L (HID @HHESTOL LSSSS5S0 L&SHISET [@)(hE(E)LD
A 150 B 165 C 275 D 225
In a book there are 120 pages with 45 lines in each page. If the number of lines in a page are
reduced to 24, the total number of pages will be
A 150 B 165 C 275 D 225
108) e uswflwmer em.11,250—gm om&eg GgTamsurs GunSmmsr. @& gaiflsar gy aimLTaTS Sl
15% sTevflsb geurfledr LOTS e(HLOMETTLD.
Aem. 75000 B em7250  Cem.6250 D em.6000
An employee gets Rs.11250 as bonus. If this amount is 15% of his annual income, then the

monthly income of the employee is
A Rs. 75000 B Rs.7250 C Rs.6250 D Rs.6000
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109) @ GarmausasT gl Gully 10% wnmid 20% & QT SeTEnLpssT Gerhisgsar en.5760
& alnslLbh\&lsrma) sTerfled @ser NS allsmev eTsareor ?

Aem. 6000 B em. 8000 C em. 7000 D em. 5000
A television set was sold for Rs.5760 after giving successive discounts of 10% and 20%

respectively. What is the marked price?
A Rs. 6000 B Rs.8000 C Rs.7000 D Rs.5000

110) mmm&rn ABCD et Lty

A 65 Q&.1i% B 56 Gg.1i% C 150 Gl&.152 D 90 Gl&.L2
Area of the quadrilateral ABCD is

A65cm?B 56 cm:C 150 cm 2D 90 cm @
111) @ searsHms Siomeafliugnamer gjeliLmL & sl Hliur(

A 1ysrefl B 3 yerraflgs C 2 yeraflgst D GCrisGam ipsoemiowirg 3 ysreaflgssir
The necessary condition for the determination of a plane is

A One point B Three points C Two points D Three non-collinear points
112) efdlaum (pemm eTaaTLIS.

A v G THSGIS5ST_H&6fledmEg QuTg) il

B grGer — spmed eom  C G sHmed (pevm

D smu Qurmefledlmhg LmLGurmener Crradld Glean|gn
Induction method is

A From various examples to general concepts.

B Self learning method

C Group learning method

D Moving from abstract to concrete
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113) @@ el eangelomer smily sofullear gumb 35 &l @8 QMESTNSG  EIMETSESILLLIT6,

I|EESITSI6T LSS a6
A 220 Glg.16. B 55 Glg.f. C 35 Glg.uf. D 70 Glg.Lf.

A copper wire is in the form of a circle with radius 35cm. If it is bent into a square then the side of
the square will be

A220cmB55cm C35cm D 70 cm
114) seuellg oileBin|s Snl SST60 ML HETsnL

A urLs @nilly swrf&@L Smer susmidng B smisgean o usremrd swrflss 2 sadng)

C Slmsiraemer UL Lpwisdl 2 g6 &Hms)

D s glGummL a6 eypeuld SNLIST SHmed GLmmer Ranhssns alermhigSng.
Use of mathematics laboratory is

A Develops the ability to prepare notes of lesson

B Helps to prepare teaching aids

C Helps to list out the competencies
D In it learning becomes meaningful because learning is done by visual aids

115) 6, 6,9, 14, 8,9, 9, 8 srettm efeunmsEhH&STaT @nL_Hlens, (&6 wnmid aiFs: o &iusmnlsr syrei]

A 8.5 B 10.5 c8.8 D 10.3
The mean of the median, mode and range of the observations 6,6, 9, 14, 8,9, 9, 8 is
A 8.5 B 10.5 c8.8 D10.3

letreu(mLd LILLomenTs)l (b GOuSSlsr LuGam Geualamseaflsr ssaissmses @MsSng. ememmll
Ui 58] Ulstreumid elleTm& s ems e afleoLweafl&sea L.

A — 2 emwTe 5@, B — giewllsarer Gaeeay, C — Lwemrd Gaaey, D — GaLiliy
E - of (b surLens, F — @a&r GFaessT

Famity Expeneliture

The following diagram represents the percentage various expenditure
of a family . Based on the data answer the following questions.

A — Food, B — Spend on Clothing, C — Conveyance, D — Saving,

E — House Rent, F — Miscellaneous

Family Excperdcl P e v

17
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116) wrs aumLomseTLd er,.3080. LS auHLTETSSHN CaLillnsTs @& SsLILMHILD C5Tms selanlsTa ?

A 510 B 616 C 620 D712
The monthly income is Rs.3080. How much amount is spent on saving per month
A 510 B 616 C 620 D712

117) uL&Ee0 a5 (h sumLemaiLmed gyemL L L e’ L Gasmevor LSl

6MLDIIG GSHTEHITLD 6T6I6LETE|

A 56° B 34° C 54° D 36°
How many degrees should be there in the central angle of the sector for House Rent?
A 56° B 34° C 54° D 36°

118) g ws6gTme algafliume YNWPSILHSS 2 Salb 2 &hs I|5IELPeDn
A fissmas Sigsa B ellflamr wpeomn  C uniGasnm) Hle&860
D @smfilev mI" LG Sletr epeuld Glaniig) smLed
A suitable approach to introduce coordinate Geometry is
A Solving Problems B Lecture Method C Role Play
D Demonstration using technology integration

119) 20 erevorgeflear aqmaifl 59 sreors. eeuGleUT(m 6TERTEAMIL GWID 3—08 &ul lg6aTTeL SHl6MLSHGLD 6TevoTS61 60T

gymaifl.
A 56 B 62 C177 D 196

The mean of 20 Number is 59. It 3 is added to each number the new mean will be
A 56 B 62 C177 D 196

120) SLpssetreumpled 618 &ifl ?
A9+3x2-4+-2=10 B6+4+2-1=4
C4x3+4+2=14 D27+3-2x3=21

Which is correct?
A9+3x2-4+-2=10 B6+4+2-1=4
C4x3+4+2=14 D27+3-2x3=21

121. S Oumieme @somur(h sToLGeUSDE STT6ueTL
A eafllfl&Csmemid smriGang B afifisGasmemd Hereug)
C allflQlevstrlstr @afli Gigmsmeve Hevorie HS5860 D @lemalemsrssin

Myopia — defect may arise due to
A The eyeball becoming too small B Elongation of the eyeball

C The focal length of the eye lens becoming too long D all the above
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122. smamL_[7enetT (5600Tlg 60T |EMISES(T @lemeiTe elsmenr

AH?>+H® —»2He+on'+ 3L,Hmeb

B 1H>+H® —>2He*+ 200" + gy hmed

C 1H2+1H2 —»Hea + on1+ gummev

D 1H2+1H2 —> 2Hea+ 2on1+ gy mmev
The Fusion reaction in the hydrogen bomb is

A 1H?+H® —»2He*+ on' + Energy
B 1H?+1H® —>2He*+ 20n' + Energy
C 1H2+1H2 —*Hea+ on1+ Energy

D iH2+1H2 — 2Hea+ 20n1+ Energy

123. sliaiFdlsr gjeTey Jevamed gjeraflLIL(HLd
A sdit B@L&lued  C Gl D mmesor_sgedr
Radiation Exposure is measured by unit

Aray B Decibel C Fermi D Roentgen
124. s, suremrafliLey 960 (AU)

A 1.986 x 10216 B 2.8 x 10sLfi/al C 1.496 X 1015 D 9.467 X 1015

One Astronomical unit (AU)
A 1.986 x 102m B 2.8 x 10s /a9 C 1.496 X 101 m D 9.467 x 1015 m
125. Wlsareor & Coumium_iger S.1. 9
A gld B Gamsor”  C guoflui D sngyiid
The S.I. unit of potential difference
A Ohm B Volt C Ampere D Coulomb
126. Sigm&s6u0TLUMMI6L 6THS 6263TM)] STEVSHEET 6V |6V6V
A gpeiord B gafl gy eior( C mmeir D Qmmg
Which one of the following is not a unit of time?
A year B light year C day D second
127. nrmidlstty flsiraemLuflsr @oluih  ellsmL. C

e s I

Aﬁ/\/\/\/\/\_Bf(-)_CJ{D ‘H/l

The symbol ot variable resistance 1s
Answer C
128. mLog) el 1960 SlevL&@GL LImHema LhsrGerm L SSlsr 9Si6levssor
A 240 H; B 100 H: C10 H: D 50 H:
Frequency of our household alternating current is
A 240 H: B 100 H: C10 H: D 50 H:
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129. Y 1Hlufleb SeumHGI6TaT 6MBLTen6aT

A Qaaillipw seram B 950sai g sy

C Qzall’Lrs semrse D @emaismerggio
Nitrogen in earth’s soil is

A Saturated Solution B Super Saturated Solution

C Unsaturated Solution D all the above
130. 6C13 ommitd 7N14 9|6T0ISESEM6IT ETELUEUTM)| DS SEVMLD

A snGemumigst B spGam_meirasst C syGamGLmiygst D smiusufleor soGamGLmiy
The atoms eC13and 7N14 can be described as

A Isobars B Isotones C Isotopes D Isotopes of Carbon
131. SemSS6uTL UNMI6T 678 Counm) B|6m) PPV 1) ?

AO2 BH2 CNH3D Hz2SO04
Which one is hetero atomic molecules?

AO2 BH2 CNH3D H2S04
132. S1i15:6680TLUMMIET 6THhS 660TMI I SOl CaarmLTSHTS)

A emaml rsemenr s7Mmeb B 9y Serflesment s7mmeD

C smaml_resnerr B&@&60 D sTesLqmersemer @lLos s
Which one is not in oxidation?

A Gain of hydrogen B Gain of oxygen C Loss of hydrogen D Loss of electrons
133. @Irssssler pH &
A6 B84 C74 D55
The pH value of blood is
A6 B84 C74 D55
134. Afli, @ eumyellsor Geudlufisd Gl
A ol yav gy smen@b B sreodlun soGu’ C smudliun oy &menb
D emmL_rav enL o) SHemero(bh)
The chemical name of laughing gas is
A nitrous oxide B calcium sulphate C calcium oxide D nitrous dioxide
135. 2 _Geurssll GUTeN& G 2 SMTesorid
A Berm igemid b Gegmoresflud C Symemu’ D Qeueirarf]
Example of Metalloids
A Platinum B Germanium C Graphite D Silver
136. Usi& C5lesERsE TOSSSSTL(H
A @msv B Gymear C (wpsemiudsl D Geurdy
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Example for shrubs

A Paddy B Rose C Radish D Neem
137. flev Bt sumg mevsTeUMMID ST 6T(HSSISSTL (b

A engseiv B smuetreiv C omero D Ljeb
Example for Bryophytes

A Cycas B Pinus C Moss D Grass
138. urdlsemer GHMS5S IjnfladliLied

A urslefliumeugdl B 2 1_sdlwsy C Gl&susdliuey D smussmeugs]
The study of algae is called

A Bacteriology B Physiology C Cytology D Phycology
139. Gmr&lSs6lsr GuTE) sum Qeusfliurdma)

A gy&edlmett B somLregeir C smiusatsmL gy semen® D & Germiflsar

The Gas liberated during fermentation is

A Oxygen B Nitrogen C Carbon dioxide D Chlorine
140. gparflufletr GeTT(HSNISHE THMEUTY) STOUT LTSSSDE FHLGILD Ijengey

A gaflsmiuengey B uaflsmiusmsea| C Gaudlamiusmaa) D firemiuameas,
The movement of a plant part in response to light is called

A Phototropism B Geotropism C Chemotropism D Hydrotropism
141. 9|16V LOEMLD 2 (HEUTSE STITETOTLOTEDT GUTLL| 6785 ?

A gy &edlmet B enmpl e gy semen® C @ Gearmflssr D enamiregsor
Which gas causes Acid Rain?

A Oxygen B Nitrous Oxide C Chlorine D Hydrogen
142. 5ifletr eLpsuid seuflasEmid allems & Emid LTaSNISE ThHiSSISST 6

A gjsuenr B Gigsiremenr C Lsur D &55if
Example of Fruits and seeds dispersed by water.

A Bean B Coconut C Jack D Brinjal
143. afleuniE GEaseflsy L (HGL sTsoTlL@bLD Clas 2 miiL

A Biyseflwen B ermeviorgsin] C flGurGamn D Ggson GrmGamb
Which cell organell is found only in animal cell?

A Nucleus B Plasmamembrane C Ribosome D Centrosome
144. ursLefliLmens gerell(HIb G

A &imd B 6L C Qeurssflwr D smwsiymsor
Bacteria are measured in Unit

A Gram B Meter C Vernier D Micron
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145, eMOAGWT urSLlefiLmafer o aLD
A smsoyeirefl B simeir C &81 D Gssmamid
The shape of Vibrio Bacteria is
A Comma B Spiral C Rod D Spherical
146. @leumnled emeurrsiv Cum 6T ?
A GuredlGwir B @i Lssrev C GamipCrmiemi D wGeurfliim
Which one is viral disease?

A Polio B Tetanus C Leprosy D Malaria
147. wyilwedler SHemg

A siglTGasit B Gustorsy C Gevetor_srvGlLsareorri D srLor&sor
Father of genetics
A Chandrasekar B Mendel C Landstenner D Emerson

[ Lomeoren GlasuaurkisGer BriseT Ligsdlern CUTg) sremaugl shes6elmHESTM QSMLisE 8925770107 ]

148. GG L 6dl6dT [HaTLD
A2 B3 WL C158LLr D 6 i
Length of large intestine
A 2 meter B 3 meter C 1.5 meter D 6 meter
149. Gaevfl eueMILS G 2-SHS [@)6wTid
A srilenv @etmigssm B epiilen yGemmiflum C enleiv LmiGalLm D eyilern GiosuedlGuiym
Best Breed for Apiculture
A Apis indica B Apis florae  C Apis dorsata D Apis mellifera
150. uBSliLT CeHdl L rismaller @)L
A oS B sipm_ar C gsvevmn D Gaperm
Bandhipur National Park is in
A Gujarat B Karnataka C Assam D Kerala

“o_mig6T BlmieITSSMe Wmstoreui e gy SliflursearmaL (i,
L Afrsamms 2 pElshGLH SHaalstarmen fnss GIn”.

@IILIp 58,
Smwd wrsso, M.A., M.Sc., M.Ed., M.Phil.,
Rtd, Professor seafluiluc seaifl, Geed 8925770107
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